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 nghJ klq;Ffspy; rpwpaij fhzy; (ngh.k.rp) 
 
 vz;fs;  

 
vz;fspy; nghJ klq;FfSl; rpwpaij fhz;gjw;F Kjypy; jug;gl;l vz;iz 
Kjd;ik fhuzpfspd; ngUf;fkhf vOJjy; Ntz;Lk;.  
 
 
18, 24 

18           2 x 3 x 3 

24           2 x 2 x 2 x 3 

 

 

mLj;jg;gbahf ngwg;gl;l ngUf;fq;fis tYf;fspy; vOJjy; Ntz;Lk;. 
 
18 = 2 x 3 x 3 = 2 x 32 

 

24 = 2 x 2 x 2 x 3 = 23 x 3  

 

,;q;F xd;wpypUe;J xd;W NtWg;gl;l Kjd;ik fhuzpfs; 2> 3 MFk;. 
 
2 ,d; Rl;bapd; kpfg;ngupa tY = 23 

 

3 ,d; Rl;bapd; kpfg;ngupa tY = 32  

 

/ ngh.k.rp = 23 x 32  

                                                              = 8 x 9 

                                                              = 72 

 

jug;gl;l vz;fspd; Rl;bapd; kpfg;ngupa tYtpd; ngUf;fq;fs; ngh.k.rp MFk;.  
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H.tdpjh 
Nf /nj`p /Gdpjkupahs; jkpo; kfh tpj;jpahyak; 

vl;bahe;Njhl;il 

ml;ru fzpj Nfhitfspd; nghJ 
klq;FfSl; rpwpaJ 
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gapw;rp :- 1 

gpd;tUk; vz; jpupjq;fs; xt;nthd;wpdJk; nghJ klq;FfSl; rpwpaij Kjd;ik 
fhuzpfspd; ngUf;fkhf vOJtjd; %yk; fhz;f. 

i. 12> 18 
ii. 6> 30 
iii. 8> 12> 24  
iv. 60> 30> 90 
v. 21> 54> 75 

 
 

 ml;rufzpj cWg;Gf;fis nfhz;l Nfhitfspfspd; nghJ klq;FfSl; rpwpaij 
fhzy;.  
 
 
 ml;ru fzpj NfhitfspilNa ngh.k.rp fhz;gjw;F mtw;iw ,ad;wtiu 

fhuzpfspd; tYf;fshf vOjpl Ntz;Lk;. 
 
cjhuzk; 
 
18ϰ2y, 12ϰy2 nghJ klq;FfSl; rpwpaij fhz;Nghk;. 
 
18ϰ2y = 2 x 3 x 3 x ϰ2 x y = 2 x 32 x ϰ2  x y 

12ϰy2 = 2 x 2 x 3 x ϰ x y2 = 22 x 3 x ϰ x y2 

 

 

,t;TWg;Gf;fspy; xd;wpypUe;J xd;W NtWg;gl;l fhuzpfs;  
 
           = 2, 3, ϰ, y 

 

/ ngh.k.rp = fhuzpfspy; kpfg;ngupa tYf;fspd; ngUf;fk;  

= 22 x 32 x ϰ2 x y2  

 

= 4 x 9 x ϰ2 x y2  

 

= 36ϰ2y2 
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gapw;rp :- 2  

i. 4ϰ, 6ϰ2, 15ϰy2 
ii. Aϰ2, a2ϰ, a2b2 
iii. 7ab, 28a2c, 40a2b 
iv. ab2, 15a2b, 24a2b 
v. ϰ2, ϰy2, ϰ2y2 

 
 <UWg;Gf; Nfhitfis nfhz;l ml;ru fzpj Nfhitfspd; ngh.k.rpiaf; fhzy;. 

 
cjhuzk;  
 
2ϰ + 6, 3ϰ – 12 ,dJ ngh.k.rp If; fhz;f. 
 
2ϰ + 6 = 2(ϰ + 3) 
3ϰ – 12 = 3(ϰ – 4)  
 
 
xd;wpypUe;J xd;W NtWg;gl;l fhuzpfs;  
                = 2, 3, (ϰ + 3) (ϰ – 4)  
                = 2 x 3(ϰ + 3) (ϰ – 4)  
                = 6 (ϰ + 3) (ϰ – 4)  

 

3(ϰ + 2)2, ϰ2 + 7ϰ + 10 ngh.k.rp If; fhz;f. 
 
 3(ϰ + 2)2 = 3(ϰ + 2)2   
 
 ϰ2 + 7ϰ + 10 = (ϰ + 5) (ϰ + 2)  
 
 
NtWg;gl;l fhuzpfs; = 3, (ϰ + 2), (ϰ + 5) 
 

kpfg;ngupa tYf;fspd; ngUf;fk; = 3 x (ϰ + 2)2 x (ϰ + 5) 
 
                                                    = 3 (ϰ + 2)2(ϰ + 5) 
 
 
 
gapw;rp :- 3  

i. 4(ϰ + y), 12(ϰ – y)  
ii. 12(a – 3)2, 18(a – 3) 
iii. 14ϰ2y2, 7ϰ(2ϰ + y)  
iv. 4(ϰ – 2), 5(ϰ – 2), (ϰ – 2) (ϰ – 3) 
v. 5ϰ, 15(ϰ – 3), 6(ϰ – 3)2 

 


